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Say; that it was signed not for the sake of a woman

Overview

X271 challenged 1"9 who stated that according to 2" a v3 need not be written 7nwY,
but we learnt' in a 7awn that any va which was not written 7wX W is 9109, The
X3 answered, according to n"9, the mwn should read anmw (not 2n21w). Our
mooin discusses the need for this answer and the validity of this answer.

mooIn anticipates a difficulty:
- >91¥9N 9295 XM 1Y rAlA RFAF) 219 DY 91 NP NIYDT 2) DY 9N

Even though in the 20 of this 71wn, it is taught, ‘even more so, etc.’, and the

X773 there establishes that ruling according to X'', so we can also establish this Xz
like X",* why do we need to change the 71w» and answer onmw X K?!

mooIn responds:
= 9919 YINM 2290 PNRYND PINTD DI155Y NN 01PN Yon

Nonetheless as much as it is possible to conform the w» like %»''9 (even in an
unseemly manner), we conform it according to n" -

- SNY YIN 939 PIINND DNDT Y NNDT DIVUN
Because we have established that an anonymous 71w is the view of »''-.

nvoIn asks:
- 71"\‘,7)3 09910 NP ynHvY L NNP N ONNIY 9IRP 139N 9INRN ON)

And if you will say; but how can we answer that the 71wn reads anmw instead of

Ly, 7.

? The 7w there stated that not only if it was completely anw> X2w is it 9109, but even in a case where he had two
wives with the same names, and he wrote it aw" to divorce the older wife, he cannot use this v3 to divorce the younger
wife instead. The X3 (on 2,75) there inferred that he can still divorce the older wife with this v (even though it is not
evident from the v, which wife he is divorcing [see '01n there >7v2 17"7]), and subsequently established this ruling
(that he can be w1an the older wife) according to X" (who maintains N1 "), but not according to »n".

? X"9 maintains >n13 2"y and the 7% 202" in the 7N refers to the writing of the v3. There is no requirement for o>7y
to sign the 3. However »"2 maintains that *n73 m°nn >7v for the '7% 202" refers to 07w NN

* There is no question on 1"7; indeed X" (the Xin of that 71wn) requires 7w 72°n3, while »" does not require 722n3
5. In fact the last ¥1°X% n°vak offer this answer exactly!

> The aforementioned 7wn is a 7Iwn ONO (no name of a Xin is mentioned), so even though we cannot establish the
entire 71wn like "7, we try to establish at least part of the 71wn (the Xw»1) according to »".

® The mwn is asking how can it be that a v3 was written TwX 215 X?w; who would write such a v3?!

" The husband heard them saying, ‘write this v3 for this man and wife’, and it was his and his wife’s name, so he
wanted to use it to divorce his wife.
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2no1w, but the 71wn continues, ‘how is it so (that it was JwR 215 X5W), he heard

the sound of the scribes calling out’, etc.
— 15175 1YY D190 Y9 NI

And in the X223 it is explained that the 7awn when it stated PIpn 290 7P it

means, scribes who are learning how to write 1u%; when they write a practice 03, it is 2109
even if they write the correct names. Obviously we are talking about the writing of the 03, not the
signing (which is not done by scribes but by witnesses), so how can we answer anmw RAX,
when we are discussing ©i1 na°n3?!

N1B0IN answers:
199175 319 03 *OINNYY 2INY DIV TITT MY Y

And one can say that it is the custom of these apprentice 22 to both write
and sign a v3 in order to learn how to do it properly.

Summary
We try to establish a miwn ono like »n"9. Apprentice 2’7910 practice writing and

signing a V.

Thinking it over
mMooIn writes that the apprentice 21910 sign the va.'" In that case where someone

signs a document without being told to by the qvw: H¥3, the 9109 is not because it is
not WY, but it is not considered signing a document; it is completely fraudulent,
however from the 71w it seems that the 2109 is on account of Taw? Xow?!"!

89,7.

? See “Thinking it over’.

10 See footnote # 9.

' See 01 1 and mwn nom.
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